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#
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=

# B I 2 OAl #H B F B B fp = REtEt EHE =
BEBILEZTREREMNESEERELIS
No.1 & Ffr
HEWHET
T PR m2 0.60 0.6
EEIn m 8.00 8.0 [4.0%2
BRI t=4. Ocm m2 8.00 8.0 [4.0%2
TRERIE #EM=5. Ocm m2 8.00 8.0 (4.0%2
WET TARI7ILE BAZHNE 13 m2 8.00 8.0 |4.0%2
BROE FAI7ILk 0. 4km m3 0.32 0.3 |4.0%2%0.04
No.2 & it
HEWHET
T PR m2 4.00 4
R m 17.0 17 [13.0+2.0+2.0
BRI t=4. Ocm m2 26.0 26 [13.0%2.0
TRERIE #HEM=5. Ocm m2 26.0 26 [13.0%2.0
HET TARI7ILE BAZHNE 13 m2 26.0 26 [13.0%2.0
S FTRAI7ILE 1. Okm m3 1.04 1.0 |13.0%2.0%0.04
FAH—T WE-RE m 13.0 13.0




% B - = Al B B By = REEtEHE e
No.3 & Fir
SRS T
T FEER m2 450 45
B el m 13.0 13.0
EET t=4. Ocm m2 3273 32.7 |(4.0+14.7)/2%3.5
TREEEIE HEM=5. Ocm m2 32.73 327 |(4.0+14.7)/2%35
HMET FAI7ILk BEFZHE 13 m2 3273 32.7 |(4.0+14.7)/2%3.5
BBk FAI7ILE 1. 2km m3 1.31 1.3 [32.73%0.04
No.4 T FiT
SRS T
T FEER m2 9.70 9.7
HEUIE m 36.70 36.7 [32.3+2.2+2.2
EETT t=4. Ocm m2 71.06 71.1
TREEEIE HEM=5. Ocm m2 71.06 711
#MET FAI7ILk BEFZHE 13 m2 71.06 711
R IE FAI7ILE 1. 3km m3 2.84 2.8 |71.06%0.04
FTAH—T WE-RE m 32.30 323
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# B I 2 OAl # B F B B fp = REtEt EHE =
No.5 & Fir
HEMET
Eifg2ta 7 1E ik PEBE 20km m3 2.0 20
ST AS (BEHHIE13)t=4. Ocm m2 495 495 S LB I 250
ST
TRAI7 VRS
BWAAH m3 5.51 5.5
BT TAI7IVEGH 12. 1km m3 5.51 55
BE2. 35t/ m3 t 12.95 13.0 [5.51%2.35




